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2022

ECONOMICS
Paper : ECO-HC-2016

( Introductory Macroeconomics )

( Honours Core )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

1. Answer any fen from the following questions :
1x10=10
o PICIRT R (PR TRe e i

(a) Who was the first economist to have
coined the term ‘macroeconomics’?

SR YRS’ T YRICH FME SRR
2AYTCS e 2
(b) What is meant by depreciatio_n cost?

wrEed 99 I R @
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(c)

(d)

(&)

(9

(h)

0)

o (2)

Distinguish between intermediate goods
and final goods.

TGEE TR W pORE AR TES AL P
iy

Give one example of transfer payment.
T ARCNeT b1 T R |

Define gross domestic product.

T T Seerd S |

What is velocity of circulation of money?
R oo Peerel 2

Whgt is money supply?

TR Q@A 2

How does credit creation affect money
supply?

™ R R AR ¢S @ETE 2OR
¢ ?

What is liquidity preference?
o o {7

Define ‘open market operations’ as a

tool of monetary policy.

{mﬁmmﬁﬁnﬁmq@wmwﬂm
faan 4 A
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(3)

(k) Distinguish  between demand-pull
inflation and cost-push inflation.

wik erfte @RS W TEEe JEriife
e e e T

() Which country is facing ‘hyperinflation’
recently?
Ao TS (W (T ARY @RS’
TR TR 2 -

(m) Mention Say’s law of market.

'3 T&R Rites Smy 711

(n) State one essential condition of
Keynesian income determination.

RPN FRR TRy 56 9B e

BN
(o) In which case is LM curve horizontal?
& cFa® LM (IoF ST =2
2. Answer any five from the following
questions : _ 2x5=10
oo AR R e #Aw6r e i
(a) Distinguish between real GDP and
nominal GDP.
oS P T BT AF AL P
Beod T Y A 11
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(b)

(c)

(d)

(4)

1}

Mention two types of transactions that
are included in the current account of

balance of payment.

ﬂﬁm«aﬂws@l—ﬁmﬂ‘mmiﬁa
TR AR TrEy 90 |

What do price indices show?

w3 PE O ?

Distinguish between net domestic
product and net national product.

W% TFT T AF 0% A TR IS
o faefa 41 1

(e) Write any two functions of money.
Jar R e 91 o o |

() What is speculative demand for money?
TR FEere Sfoem & 2

(g) Define inflationary gap. .
TUrReT F199 gl faa |

(h) What is mdney multiplier formula?
T4 B9 ch! 752

22A/1097
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(5)

3. Answer any four from the following
questions : 5x4=20

©oq 2IREE R @len SRR Tas frean -

(a) i)istinguish between  balance of
payment and balance of trade with
example.

TR RES ARCTR SWel wWie qfqeE
AHOR &S 1Y (AT 41 |

() Distinguish between current and capital
accounts of balance of payments.

AR TR Bre Roe W R Ror
e~ fAefa 91

() How would you measure gross national
expenditure? State the limitations of
this method.
3 P | @RI P A IR @]
TS SRRePTR TCEd 1 |

(d) Discuss the modern approach to money
supply.
TR QS CPIS AT QIREAICBT AT
901

(e) Explain the three motives for demand
for money according to Keynes.

@[ o @R orRR e wfSam qmem
s
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(6)

() What is liquidity trap? Explain its
significance on monetary policy.

o T R 7 @ NS [T GFg MM

(g) Explain the causes for the shift of the IS
and LM curves.

IS WIF LM 1 o1 ZARRS (RN TP
R0 4 |

(h) What is fiscal multiplier? What factors
affect fiscal multiplier? -

IR @R 27 I 9FT JerfEe
RN BormerR R 6 2
4, Answer any four from the following
questions : 10x4=40
T 2SR e wifkoR T o -

(a) Explain the various basic issues studied
in macroeconomics.

e SRS S 31 7 Rz amn
1

(b) Discuss the process of national income
accounting in an open economy.

7o q4AET AT W SR AfREAET AT
1
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(7)

{c) Explain the process of circular flow of
income. In what ways do international
transactions affect this flow within a
closed economy? ' 7+3=10

URE N oA AfFhl e I FR
ST wEESF TMH-AT WX SRS
(@A JSRIRS I 7

(d) Critically explain the cash transaction
approach to the quantity theory of

" money.
SR qRmr TR wm RRmw s
FACAAEFSIA I <4 |

) Compare and contrast between cash
transaction and cash balance approach
to the quantity theory of money. Which
one is superior? Give reasons. 7+3=10

TR R TG 9IS TYS W G- AP
oW T YRR G 1 o e ey 740

WA @ e ? I e o

() Explain the various tools of monetary
policy. Which one is appropriate to the
developing countries? Give reasons. 8+2=10

T TR Ridw NRFPTR I T 1 R
ofRe SweE (R IR TE? IR
wofan |
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(8)

(g) Define inflation. Explain social costs of

inflation. 3+7=10
s s e ikt R
ORI 0|

(h) Evaluate the Keynesian model of income
determination.
TR o AR bR e 9 |

(i Compare the classical and Keynesian
models of income determination and
point out the fundamental differences
between the two.

e aF @RI o AR Ry TEe
Wwwmwcﬁrﬁ?ﬁmw
SgferiE |

() Derive IS and LM curves. ‘Explain their
properties. 6+4=10

IS =1® LM (331 o1 SR3 397 | 3299 4R
T 411

* % &
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3 (Sem-2/ CBCS) ECO HC 2

2022

ECONOMICS
Paper : ECO-HC-2026

( Mathematical Methods in Economics—II )

( Honours Core )
Full Marks : 80
Time: 3 hours

The figures in the margin indicate full marks
Jor the questions

1. Answer the following as directed (any ten) :
1x10=10

O PRI i SR Tee fan (R e w=iy) ;
(@) Write a unit matrix of order 3 x3.

3 %3 T Bl 9P (o fora |

(b) If the two rows (or columns) of a
determinant are identical, the value of
the determinant will be —— (zero/one).

( Fill in the blank )
3t b1 e w51 R (31 B8) = =W, coem
Ffedr T2 (F/49) |

(04 51 o 47 )
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(2)

() Al  differentiable  functions  are
continuous, but not all continuous
functions are differentiable.

( Write True or False )

Wwﬁwwwxﬁmw,ﬁ@m
Rt TR TRFANT 7= |

( &} 1 =FTe fordt )

(d) Is (AB) =B’A’ correct?
(AB)’ = B'A’ 0% T ?

e/ Every homogeneous function is
homothetic, but all homothetic
functions may not be homogeneous.

( Write True or False )

AT TP FAHR TRl =, R TRCE el
FoAHE, AP T 7238 A |

( 9 % =T fopan )

(i Define idempotent matrix.
390 (T vigeat ot |

(9) Having an objective function with two
explanatory variables and one equality
constraint, the order of the second-order
bordered Hessian determinant will be

22A/1098 ( Continued )



(3)

951 SR FATR. 0 Fo TP WIF A
afeTTs 4@ Sye C%ﬂ ﬁa‘ﬁwfﬁa

R
(i) 2x2
(i) 3x3
(i) 4 x4
fiv) 2x3 4
( Chqose the correct answer )

( &% Tevchl TR Sftvedr )

) What is the rank of a null matrix?
b1 & (e SRS f§ 232

i) Is x?+y% =1 an implicit function?

x? +y? =1 951 RS v WA 2

() 1f Iis a unit matrix, then 5I will be

i 1 981 49 (% W, (@ 5127
(i) a triangular matrix / <bf @ﬁq

(i) a unit matrix / 9 G TFH
(i) a scalar matrix / *ﬂﬁwﬁﬁcﬁ!ﬁw
(iv) a vector / «B1 S I

( Choose the correct answer )

( & TaTh! AR B )
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(4)

5 2
(k) Whatis the trace of the matrix{ 1 3]?

[i’ i]mmﬁi’a?

() The solution of a differential equation of
first-order consists of

29T O] BRI TANPIT TS ACF
(ij complementary solution / ’fﬁ’[ﬁ
Y= -
(i) particular solution / RCR Y™
(ifi) Both (i) and (&) / (i) = (i) T
(iv) trial solution / = S
( Choose the correct answer )

(o= T TR e )

(m) Define saddle point.
ofier Rega e fRan

(n) Difference equation is used in discrete/
| continuous time analysis.

Re/oRTe T RoETe 1 FIT TS
Hl ( Choose the correct option )
(o Resce! AR Sferear )
(o) Cobweb model is very appropriate for
TS SR QR IR
fi) agricultural products

FREmS 799 I

22A/1098 ( Continued )



(5)

(i) industrial products
STAE TR I

(iii) Both (i) and (i)
(1) ST (i) T

(iv) service
G AR I

( Choose the correct answer )

(o Teaeh! IR Tferean )

2. Answer the following questions (any five) :
2x5=10

wore fian 2P e fia (R et <iwi)
(a) Give an example of a diagonal matrix.

o1 R (et Srraet faa |

(b) Prove that for any scalar A
MA+B)=AA+AB
R e e AR 2R AT 2 T
AMA+B)=AA+AB
c) Give an economic interpretation of
Lagrange multiplier.
e SR HLARSE WM SIICER |

(d) Define vector space with example.

SRR T T e |
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(6)

(e) Find the norm of the following matrix :

oS A e TR TS Sfoned :
32 6
A=|6 4 12
5 3 10

() Define intertemporal equilibrium.
RS SR e i |

(9) Find the rank of the following matrix :
©q (NEFHOR TR fAefy 41

-5 -3
A_[IS 9]

(h) Define homothetic function with
example.

TIZIPTR AT T V<] 7 |

3. Answer the following questions (any foun :
5x4=20

oS fdl eppryeg Sad fan (R e wifdby)

(@) Prove that
HITF @
N{(AB) < N(A) N(B)
20A/1008 ( Continued )



(7)

(b) Evaluate the following determinant :

OoTe fral Rt w1 el =1
x 5 0
3 y 2
9 -1 8

() Find the extreme value of the following
function :

oS 1] FACOR 5 I Fiefy 39
Z=x+xy+2y° +3

(d) Find A?-5A+7I from the following
matrix :

e (T /1 A2 -5A4+7] fify

9.
I3 2
15 -1

() Determine whether the following
function is homogeneous. If so, of what

degree?
TWW@T’I‘I"IW@@W, fAdfa.
M, (@ I IEE?

) 2
fooyw) =" om0
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(8)

() Prove that if a function f(x) is i
 differentiable at a point x = ¢, then f(x) |
is continuous at x=c. -

T T A WG FTW f(x), x=c RS

SN W, (@ FAWH x=c e
wRftgrs 271

(g) Given X'=[x; x, x3], write out the
column vector X and find XX’

MW X =[x x, x3] BN AR, corm W
8 X F 23, Fre o X ey =1 |

(h) Prove that the Cobb-Douglas production
function Q=AK°IP s g linearly i
homogeneous production function, if A
oa+p=1

MM A Mo+ =17, (08 3F°3-TS[EAS
BT ¥ Q = AK P bt SRetaRe s
P B Fo T |

4. Answer the following questions (any foun :

10x4=40
were fia erprpRs B e (R o i)

(@) Solve the following sim

. : ‘.ple national
income model using the method of

() Cramer’s rule ang (i) matrix
inversion : 5+5=10
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(b)

(c)

(9)

ware fia SR wom S SRC (i) (R
ol wF (i) AR IR ol
FAY F90:
Y=C+Iy+Gy
C=a+bY (@>0, 0<b<l1)

A price discriminating firm has the
following average revenue functions :

P =63-4Q

P, =105-5Q,

P3 =75-60Q3
If total cost function C=20 +15Q,
then find the equilibrium outputs and
equilibrium prices. 5+5=10
71 R T Seoli PP @B oS W
TN Oero il (X’

B, =63-4Q

P, =105-5Q;

P3 =75-6Q3
I I FoW I C=20+150 X, B
SR SeoRER AR WF ST
Bferean |
A monopolist produces his product in
two different plants and his total cost
(TC) function of the two plants are given
by '

TC, =10-2Q; +Of
TC, =15-6Q; +203
( Turn Over )
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(d

(e)

22A/1098

( 10)

If the average revenue (AR) function is
given by AR =50 ~ -20Q, then find—

(i) profit maximizing outputs;
() maximum profit. 5+5=10

T GO RewerR 1 R oreae %&W
T WAR I/ (TC) Fo '3

TG =10-2Q, + Q2
TC, =15-60, +2032
It T8 S AR =50 -20 =, (erg—
(i) S =re W%ﬂ"ﬂm WWSR’

(i) ST =S fefy 3097
For each F(x, y)=0 yse the implicit
function rule to find Z‘i’ 5+5=10

Wﬁﬁ"wmﬁmﬂiﬁwﬁmm
Flxy)= owwdyﬁcﬁw

@) Fixy)=y-6x+7=0
(@) F(x, y)=3x2 +2xy+4y3 =0

Solve  the following  differential
equatlon :

Tﬁmwﬁwﬁwmwmw
ay
a TH=12, y0O) =

( Continued )
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(11)

() Solve the following first-order difference
equation :

Wﬁmaw—mmﬁaﬁ'@m@w:
Yer1 -9y, =1, y(0)=Z

(g) The consumer’s utility function and
budget constraint are given as follows :
U=18xy+9y subject to 6x+3y=15

Find out optimum purchase of x and y
which will maximize the utility of the
consumer.

] Teere SISl TR W s AfeaEe
FEE T e i e

U=18xy+9y JNACF 6x+3y=15

Tocere Sorcairel T @EaN @ x W
y AR & e 277 AR, e o |

(h) A producer’s cost function (C) and
production function (Q) are given below.
Find the - optimum combination of
inputs [labour (L) and capital (K))
in order to minimize the cost of
production

1
C=2L +4K subject to O = 8LT K3 64
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(12)

G&H TeAMIT I T (C) F SeoMT T
Q) w© fir e W HRY IR IR
Teovee Bome [N (L) S EE (K]
ey A & 21, Refa w1

1
C=2L+4K “C® Q=8LYK? =64

(i) Find equilibium  income (V)
consumption (C) and tax revenue (T)
from the following simple national
income model :

e e wow WEY SRR o[l SRy
R (Y), o I (C) &F I I (T) Fefy
9.

Y=C+lIy+G,

C=200+0-8 (Y - T) ,‘

T=50+0-3Y

I, =500

G, =400

(i) ~ Analyze the following market model for
stability :
wors figl FW SRR ATl e 3 :
Qq =14-3P
Qs =-10+2P

P _40, -
dt (Qd Qs)

* % %
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